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SCIENCE
1. T R 1. Chlorine is
(A) 37997 Use (A) Oxidizing agent
(B) scfifept usie (B) Bleaching agent
(C) ez (C) Disinfectant
(D) 37 @t \(DY"All the above
2. iy 2. Daniel cell consists of

(A) Zn 3R Cu 3oi9g1e % =y 3
(B) Zn ¥R Fe soiagre % wy 3
(C) Zn 3R Sisigre ¥ w7 i
(D) Zn 3R Ag SeiFre * &9 &

8. TR 511 B Wk fiw W fra o w5
354 72 ofads @ & AeE s
(A) Terfast e
(B) < Hwil
\Cy st wrat
(D) FeHT I

4. 3Aad Groft H waifee faga emTess dea
2

(A) irer \(By e
(C) wifimm (D) ferefiam
5. ZEEISH WY % SeX Hisd A R, V 3R
E SFH3T: & ! TAaT, Siagi s i ofg
o e It aaa & | e A A -
ot W FEieH AT n o ST & ?
(A) VR (B) RE
\CEV (D) R/E
TG-05/C

\(A)Zn and Cu as electrodes
(B) Zn and Fe as electrodes
(C) Zn and Si as electrodes

(D) Zn and Ag as electrodes

The work done on a body by an external
force contributes to a change in its

(A) Potential energy
(B) Total energy
(C) Kinetic energy
(D) Heat energy

The most electropositive element in -
the periodic table is

(A) lron (B) Copper

(C) Caesium (D) Lithium

In the Bohr model of the hydrogen
atom, let R, V and E represent the
radius of the orbit, the speed of the
electron and the tota| energy of the
electron respectively. Which of the

following quantity is proportional to the
quantum number n ?

(A) VR

(B) RE
(C) E/V

(D) R/E
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(AR A
6. T JIEHI 3 T i ficfrres —_

J(8Y1 : 400

T gATEl ) gE 1 120 % U A R |
T SR fdfrrs goeeh # am o
3T 2P
(A) 1:20 (B) 20: 1

(D) 400 : 1

‘ 7. HTHEH BASE )l STehlerd § geen) )

ik 8 srfifea 2

(A) ArTenss sAfufEEn

(B) g srfsrfsan

(C) wfcreamym arfirfsran

(D) FErTEE Re SR saffm

8. 32 3N U kel il ST Irethdl

A 0.6 3 0.13 W/(m.°C) & | Toharft

Tierd i $2 1 5 om UTEA 3 e & e
Qo &t &rft ?

\(yscm (B) 4.6 cm

(C) 30 cm (D) 5cm

127°C 9UTH 8 cm x 4 cm ATIATHRR 41d
F e E J/s Ieasid Hdl & | afe sgeh
Somé 3R et 2l sief w5 R
SR AI9HE FI 327°C T TG A€ 2,
1 3 =1 & (Js) &

27
(A) 5 E

(©) %E \@/%E

81
B) —E
()64
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The ratio of the number of turns
in primary and secondary coils of
transformer is 1 : 20. The ratio of
the currents in the primary and the
secondary coils will be

(A) 1:20 (B) 20: 1

(C) 1:400 (D) 400 : 1

The process of converting alkyl halides

to alcohols involve

(A) Addition reaction

(B) Rearrangement reaction
(C) Substitution reaction

(D) Dehydrohalogenation reaction

The thermal conductivities of brick and
pine wood are, respectively 0.6 and
0.13 W/(m.°C). What thickness of brick
has the same insulating ability at 5 cm
of pine ?

(A) 23 cm
(C) 30 cm

(B) 4.6 cm
(D) 5cm

A rectangular metal plate 8 cm x 4 cm
at 127°C emits E J/s. If both the
length and breadth are halved and the
temperature is raised to 327°C, the
rate of emission is (J/s)

27 81
—E Lraishd
(A) 8 (B) 64 E
10 9
©) JE (D) ZE
TG-05/C
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13.
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(B) srydia

(C) wfea

(D) fqafda

e & & watfes zoqmm qren @
(A) Fe® 40 g
(B) NTP W N, % 6 Hie

Sy % 02g
(D) FTe % 1023 gy

UF 2.5 kg I %1 iz %1 =37 1.25 kg
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10. A beam of transverse waves whose

11.

12.

13.

vibrations occur in all directions
perpendicular to their direction of

motion is

(A) polarised
(B) unpolarised
(C) resolved
(D) diffracted

Among the following, the one has
highest mass is

(A) 40 g of Fe

(B) 6 moles of N, at NTP

(C) 0.2 g of silver

(D) 1023 atoms of carbon

A 2.5 kg iron ball has the same
diameter as a 1.25 kg aluminium ball.
The balls are dropped at the same time
from a cliff. Just before they reach the
ground, they have same

(A) acceleration

(B) momentum

(C) kinetic energy
(D) potential energy

The suitable reaction that wil| convert
benzene to toluene is

(A) Aldol condensation

(B) Hydrogenation and addition

(C) Friedel Crafts alkylation

(D) Friedel Crafts acylation followed
by reduction

®)
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14, SfcHd 3R Heafee A= ™ gg qrmm
1 U ST 31T e B @

(A) 273 (B) —40

\(Cy =273 (D) 40
15. A x 3R y Zomm F T =) @y 3§

ST TR 2 3 IHd m 3= %1 v
SR TR, Al
- (A) x+y=m (B) X+y>m

\(CYx+y<m (D) m+x=y

16. ?ﬁ%ﬁaaﬂt%ﬁwﬁamm

\ () S T Bt
(B) 2T it & &
(C) Y5 &, e &
(D) e &, I &

17. Teed & AFAR, THh U T a1 &

\ ;T)’HE’STW? HATHR TR AT
BT
(B) ESI 5T, TR 3R ¥ e
FEAE |
(C) TgW FogWH Ty fra e 3R

AFAFEAE |
(D) &gY HTHd R AN W et

I % EId € |
18. SIS 37V] GYTIal &
(A) Sfagaehea
\ (B e
(C) degehed
(D) Sfaeiegashcd

O

14.

15

16.

17.

18.
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The temperature which has same
numerical value on Celsius and
Fahrenheit scale is

(A) 273 (B) — 40
(C) ~273 (D) 40

If the nuclei of masses x and y fused
together to form a nucleus of mass m,

then
(A) x+y=m (B) x+y>m
(C) x+y<m (D) m+x=y

Leclanche cell and Daniel cell are
examples of

(A) both dry cell
(B) both wet cell
(C) dry cell, wet cell
(D) wet cell, dry cell

According to Dalton, atoms of a given
element are

(A) Identical mass, size and shape.

(B) Identical mass, size and different
shape.

(C) Identical mass but different size
and shape.

(D) Identical size and shape but
different mass.

Oxygen molecule exhibits
(A) Diamagnetism

(B) Paramagnetism

(C) Ferromagnetism

(D) Antiferromagnetism

TG-05/C
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19. afg A 3 B -y afzer B,
[A + B| = |A — B| &1 dais] g4 §, o 4%

affer =1 o] 2
\(A) 0° (B) 60°
(C) 90° (D) 120°

20. fy=feifiaa A 4 ag s chegasa avfa 2

(A) (B) Na

(D) Co
21. @I UM & 491 & d2d IeurEd 24
el ward H w1 2 A anfau
AT TR T e 3t S e
(B) B w1 e 3R @) Al
(C) BIA Zum e 31N 1) Arciadl
(D) 911 ST A 3R st JreAhal

22, fafafas o @ @f-m waifus sncfia @ 2
(A) T wfafes s
(B) srsinl wfafes s
\(CY TR ufafe s
(D) ufdfes s
23. Hifeay &1 %™ B 2.3 eV & | 2000 A
& faferror @ gerifyrg @ae @ 3scafq
wrRgaaeE Y afuwan nfas Fei
ferat gt 7
A 2.3 eV (B) 39 eV
(C) 6.2 eV (D) 39V
24. a Ueh IaTHA TV H U U stam
2, 1 T SHR
(A) H9F T &
(B) =rZal @
(C) wrea &
(D) 4l et & 2 e

TG-05/C

19

20

21

22.

29

24.

GET IT ON

Google Play
0 N

If A and B are non-zero vectors which
obey the relation |A + B| = |A - B|, then
the angle between them is

(A) O° (B) 60°

(C) 90 (D) 120°
Among the following one which exhibits
ferromagnetism 1S

(A) Al
(C) Zn

(B) Na
(D) Co

An ideal material for making handie of

cooking vessels must have

(A) large heat capacity and small
conductivity

(B) small heat capacity and large
conductivity

(C) small heat capacity and small
conductivity

(D) large heat capacity and large
conductivity

Which of the following is most acidic ?
(A) Monochloro acetic acid

(B) Dichloro acetic acid

(C) Trichloro acetic acid

(D) Acetic acid

The work function of sodium is
2.3 eV. What will be the maximum
kinetic energy of the photoelectrons
emitted by the surface exposed to the
radiation of 2000 A ?

(A) 2.3 eV
(C) 6.2 eV

(B) 39 eV
(D) 39V

When a cation is formed from a neutral
atom, the atomic size

(A) Remains same

(B) Decreases

(C) Increases

(D) Either increases or decreases

@)
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o5, Trefaiaa & R-8 wnfirdr

i 25. Which of the following will exhibit
T ? | geometric isomerism ?
(A) T (A) Styrene
(B) Rifir e (B) Cinnamic acid
(C) cifFeeh s (C) Lactic acid
\(D). 3wt (D) All of the above
26. W HI9 Il 93 A9 O19% ﬁ, =t 26. Onanew scale of temperature called W
=1 fewie o e w9 39°W ik scale, the freezing and boiling points of
" °C 3 ' water are 39°W and 239°W respectively.
239°W & | 39°C R T | What will be the temperature on the new
HJET A & scale, corresponding to a temperature of
39°C ?
A) 200°W °
) (8) tagwy (A) 200°W (B) 139°W
\(CY78°W (D) 117°W (C) 78°W (D) 117°W
27. THAMSE AfufwEar & 3a § I 27. At the end of the chemical reaction,
ware | the catalyst remains
(A) FTT 3 sfafi af . 5 (A) pnchangeq!nquantntybutchanged
y in composition
Rafda (B) Unchanged in quantity and
(B) w37 wr= H erufafda composition
(C) T ¥ smafaEffa q.{q eI (C) Unchanggd in cc_>mposmon but
changed in quantity
) (D) Changed in quantity and
\(Dy Tt 39k weem i gfafda composition
28, Trefafias § & 19 =AfFaaifEfa® | 28 Which of the following will not react
STV FAT EIgg I Al ok A with hydroxyl ions by nucleophilic
rfirfpan et s 7 attack ?
(A) TTEZUTES 32 (A) Diethyl ether
\(By gurrée THieZ (B) Ethyl acetate
(C) TfyemTse (C) Acetamide
(D) uferTEgIsd (D) Acetonitrile

TG-05/C
.4'|"‘ o
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29, U gifere foRd T g & Wiz W @l
3R HTeT o1 ULl & | 3Y 1400 K dT9dH
W ad g e ® U ARy o @ |
as

(A) I8 osell wie | off shTer frard 3m
(B) s @ I9aaR faard am

(C) 99Y 999 W Ysal @iz § 377 Fial
3R Twehrer faard 2

\ (DY rsa wie & =wehten feard dm

30. HA-Ht oA A T st iR ?
(A) TN

Wmﬁ

(C) Fr=prEm

@&%ﬁ%uﬁw

31. & FU gAY |
(A) o TERoT & SR T Sea et
2
(B) guEenfe waa earedi 2id 2 |
\Mﬁmﬁa%amaﬁamgsm%aa
forga &9 ygF BT R |
(D) e feRT0t ORI U1 g |

32, RclleH # it ffsramsiiel gewy 3

(A) T By
(C) IEEH (D) s
TG-05/C
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A polished metal plate has rough ang
black spot. It is heated to 1400 K an
brought immediately in dark room.

Then

(A) The spot will appear darker than
the plate

(B) The spot will appear equally
bright

(C) The spot will appear darker
and brighter than the plate
periodically

(D) The spot will appear brighter than
the plate

Which is not a characteristic reaction

of benzene ?

(A) Addition

(B) Electrophilic substitution
(C) Elimination

(D) Nucleophilic substitution

Choose the correct statement.

(A) a rays have high ionization
power.

(B) Isotopes are always radioactive.

(C) B rays are deflected towards
cathode when the electric field is
applied.

(D) Gamma rays are negatively
charged particles.

The more reactive member in halogen
is

(A) Chlorine (B) Fluorine

(C) lodine (D) Bromine

O
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33. T e S 1wt R e e

34.

T, 7 7 R A o
10T ST A T ST ) Sl B |
110km/hé’1éaaﬁ‘§qaggggmgm

& 8 i w2 | €T3 STTST =7 377 2
(A) 127 km/h (B) 110 km/h
(C) 220 km/h (D) 144 km/h

B h R fafe s
A2 |

(A) SIST ATHR

(B) 3= Torya sRomewanar

(C) Tew ¥ d a1 Y Iufeufy
\_(Dy 5= TR St

35. U ZMEGIH % WAHE Fvsd # 300

HuTa 8 3R fadios Frea # 75 E @ |
<Tat fecfioe Fvea # 20 A arr B 8,
efirh Fved § g e

(A) 5A (B) 25 A
(CYBOA (D) 6.4 kA

$o 2
%0

36. frafaflaa @ @ fFa cH, - X 59 i

Ay YT g ?
(B C=Br

(C) C-Cl

(B) C—F
(D) C -1

37. €1 3 ¢ H HUMHS Solaers &

O

N

(C) =Tt

8 =

1

=
—
HE

33.

34.

35.

36.
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Awomen in a car on a leve| road sees
an airplane travelling in the same
direction that is climbing at an angle
of 30° above the horizontal. By driving
at 110 km/h she is able to stay directly
below the airplane. The airplane’s
velocity is

(A) 127 km/h
(C) 220 km/h

(B) 110 km/h
(D) 144 km/h

Sulphur exhibit variable Valency due
to

(A) Bigger size

(B) High electronegativity

(C) Presence of d orbital in sulphur
(D) High ionization energy

A transformer has 300 turns in
its primary coil and 75 turns in its
secondary coil. When the current in the

secondary coil is 20 A, the current in
the primary coil is

(A) 5A (B) 25 A

(C) 80 A (D) 6.4 KA
Which of the following CH; — X bond
has the highest polarity ?

(A) C-Br (B) C—F -
(C) C-Cl (D) C-1

The negative electrode in lead acid
battery is

(A) lron (B) Lead
(C) Silver (D) Carbon
TG-05/C
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38. TF my AT AT HTg I e dar T
ZEHal @ 3fR AT Iver R | ayasid:
39 7t & a7 mv § Fead 8

(A) O (B) my,
(C) 2mv N \(Q/va

39. Fmafafad # @ #9-8 R FTEd
ferftat & siartd gea ewa 37 7
(A) sTehTETe
(B) 3TceHTST oSS
(C) fcehrd
gt

40. 8 kg F5FHM ATel T sclfeh o
10 kW Tl fgfem wefim @ e ® | a8
a1 & T 50% fersteft =1 3w qef =1
T A % T wid F wd A R,
@ 2.5 fime 1 39 st o 2ae aoEE
1 g 1 v T | (Ceyfitem
fafire am = 0.91 J g-1°c1)

(A) 103°C (B) 150°C
206°C (D) 155°C

41. THITGHF AWM 150°C FQ=TIA1S | 356
e areem & aftomm e gty
32K (B) 150 K
(C) 180K (D) 373K

42. S T @ Froeet srchrgter o o e
IR

(A) ZnO + MnO,

(B) Cr,O4 + MgO

(C) ZnO + Cr,0,
\(9/ Ca0 + CrO,

TG-05/C
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A metal ball with the momentum mv
strikes a wall and bounces back. The
change in the ball’s momentum IS

ideally
(A) O
(C) 2mv

(B) mv
(D) —2mv

Which of the following substrates will
give free radicals under appropriate
conditions ?

(A) Alcohols

(B) Alky!l halides

(C) Alkenes

(D) All of the above

A 10 kW drilling machine is used
to drill a bore in a small aluminium
block of mass 8 kg. Find the rise
in temperature of the block in
2.5 minutes, assuming 50% power is
used up in the heating machine itself or
lost to the surroundings. (Specific heat
of aluminium = 0.91 J g~'°C-)

(A) 103°C (B) 150°C

(C) 206°C (D) 185°C

An object's temperature is raised by

150°C. The resulting increase in its
absolute temperature is

VD S (B) 150 K
(C) 180 K (D) 373 K

The catalyst used in the manufacture
of methyl alcohol from water gasis

(A) ZnO + MnO,
(B) Cf203 + MgO
(C) ZnO + Cr,0,
(D) Ca0 + cro,
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43. aﬂqﬁ? ?fﬁ?ﬁ TRTR, ﬁ gﬂ% % |
(A) gt faamaes
(B) M-t faemass
(Cy ATt T

(D) M-Sy

h HYeT =g & 2R & i ;
EISEIGIE I@WW%S?Q
T &S 1 BHI AT R | T/2 Vb ooy
g Ug waion ?

(A) SHR A h/2 m ™

(B) ST & h/4 m ™

(C) SHH & 3h/4 m W

\ (DY Tire % zomm 7R ufmmr w fefk

45. p—nSEH SIS % HH | Sepd A
% 39 g W 9N a1 ° 9@l § | S
s1fira Fieedr % 9H 1 FEd §

(A) F2 T Areed
(B) SIh-2T3 dieedl
\(CY T2 TE el
(D) SgcH dleedl

46, Frafafaa Afis &1 IUPAC AW &

NO,

44.

OC,Hs

\ Ay 1-gortere - AT
(B) 2-zeifaeft-1-ATSZ HTEATEH
- (C) 1-3uTadl-2-ATEZ ETEFATE
(D) 2-3erfarefl-1 AT TS e e
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lonic compounds dissolve in
(A) Polar solvents

(B) Non-polar solvents
(C) Organic solvents

(D) Non-agueous

A body is released from the top of

the tower of height h metre. It takes
T seconds to reach the ground. Where
was the body at time T/2 seconds ?

(A) at h/2 m from the ground
(B) at h/4 m from the ground
(C) at 3h/4 m from the ground

(D) depends upon the mass and
volume of the body

In the case of p — n junction, diode at
high value of reverse bias, the current
rises sharply. The value of reverse
voltage is known as

(A) Cutin voltage

(B) Break-down voltage
(C) Cut off voltage

(D) Inverse voltage

IUPAC name of the following compound

is
NO,

0C,Hs

(A) 1-ethoxy-2-nitrocyclohexane
(B) 2-ethoxy-1-nitrocyclohexane
(C) 1-ethoxy-2-nitrocyclohexene
(D) 2-ethoxy-1-nitrocyclohexene
TG-05/C
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47. wF g 4 iz 1 61°C & 59°C % 391

48.

49.

21 2 3k 6 fiFe A 51°C & 49°C Bl
2, T 39 %8 & d9HH B
(A) 30°C (B) 25°C

\(9)45% (D) 20°C

U M€l & TS & ufed ol Fred] oA
3750 mm ® | 39 ufgd & fou &g &1
T ST et Bl s T €, S
o 9% ufe? # ot o fee & 9@ | AR
20°C W A 1 ATEAT 4] 3737 mm
2, @ TR 1 ford g2 a% T 3 Al
o8 s Tt o fre 38 7 s % e
R F UIH R 1.2 x 105 /°C |
290°C (B) 20°C
(C) 310°C (D) 270°C
31 7€l 1 s s R, ol R, R de
I e FA: p, 3N p, B | Toe
% I I TG TR FH ST

(94/9,) 2
2
Ll 1P1
2 (B 5 B
poRy 2P2
R p R1R
&= (o) 2
Rap; P1P2

50. 3TTad ARV § Hed Fechl UTq &

(AY Li (B) Sn
() He (D) H
TG-05/C
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A body cools from 61°C to 59°C in
4 minutes and from 51°C to 49°C in
6 minutes, then temperature of the

room is
(A) 30°C (B) 25°C
(C) 35°C (D) 20°C

A wooden wagon wheel has an outside
diameter of 3750 mm. The iron tire
for this wheel is deliberately made
smaller so that it can be shrunk in
place to be a tight fit. If the tire’s inside
diameter is 3737 mm at 20°C, the
temperature to which it must be heated
to fit over the wheel ? The coefficient
of linear expansion of the steel is
125109 PG
(A) 290°C

(C) 310°C

(B) 20°C
(D) 270°C

The radii of two planets are respectively
Ry and R, and their densities are
respectively p; and p,. The ratio of
the acceleration due to gravity (94/9,)
at their surface is

P12 Rp
(A) 2 B) -1
Ripo R;R,
c oy RiRe
©) Rapr ;...

The lightest metal in the periodic table
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51. 8000 km i Brsut aTet 4 & v gy
F A2 (g = 6.2 m/s?)

(A) 0.90 km/s
(C) 8.9 km/s

(B) 7.0 km/s

D107 ks
52. Tamfctiad 3§ | -3 A o fmyg
H e § 914 & 7
(A) Hiem
(B) ¥
©)
(Dy THieeATERTsS

53. el A ATFSH F1 eRieRITH §

(A) sp? \(Ba{;ﬁ
(C) sp (D) sp3d

54. Iviet aUT H akq i =G g SfF ol @
(A) Feg-gh o Torelt oft i b fore e
(B) STl Bt e % A d HH I
20 Bt
ﬁaﬁwm%ﬂﬁﬁma@
At 2
(D) axg—gﬂ%asﬁﬂﬁ%%ﬁ
5. ey § wgE A

(A) ATEEISH
(B) 7 MIHAT
(C) ZA I FANIZE

\ (D)3 AT
o)
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A satellite orbits the earth in a circle of

radius 8000 km. At that distance from
the earth, the velocity of the satellite

is (g = 6.2 m/s?)
(A) 0.90 km/s
(C) 8.9 km/s

(B) 7.0 kmi/s
(D) 0.7 km/s

Which of the following compounds
undergo inversion in their configuration ?

(A) Methane
(B) Ethane
(C) Ammonia

(D) Acetaldehyde

The hybridization of oxygen in water
is

(A) sp®
(C) sp

(B) sp?
(D) spd

A convex mirror forms an enlarged

image of an object

(A) for no values of object distance

(B) when object distance is less than
twice the focal length

(C) when object distance is more than
twice the focal length

(D) for all values of object distance

The compound used in refrigeration
is
(A) Nitrogen
(B) Liquid ammonia
(C) Liquid ammonium chloride
(D) Liquid fluorine
TG-05/C
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56. e ¥ wiet forwt 6w s arfed 10
# 10 3t 40 % wRA A e R |
e wars 1 A o T E |
31« A1 T % wfediet =6y agm | @18
e e | 7 Igen e L R AR W

A LA
L 4
(B) I=L

(C) L-/=69cm
(D) I-L=60cm

57. @di N, O, F 3R P =it fargga swommedehdl
1 HE A 2

(A) F>N>P>0

(B) F>O0>P>N
_(GyF>0>N>P
(D) N>O>F>P

25 m/s T TR JTETa 92§ qAA
T 35 m/s 7T & foodia e d St # |
If yfeard 0.010 s & forg o, 9t wfdEma

% GHY 3G G 1 a0 Ul HIfST |

(A) 2500 m/s?

(B) —6000 m/s?

(C) —3500 m/s?
000 m/s?

59. dsiIgeh AT I AT3N (Hfcad g
JeqTE M

(A) 0-T3ZI-SIeiTEh 3T
(B) m-TEg! SISigeh 3T
(C) p-Tgg sISIseh T

(D) 3 &+l

58.

TG-05/C
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Two resistances 1Q2 and 40 are
connected in the left and right gaps
of a Wheatstone’s meter bridge. The
balancing length /' is noted. Now the
resistances are interchanged in the
two gaps. The new balancing length

‘L’ is noted. Then
I 1

A) —=—

") L 4
(B) I=L

(C) L—7=69 cm

(D) 1—L=60cm

The correct order of electronegativity
of the elements N, O, F and P is

(A F>N>P>0

B) F>O>P>N

(C) F>O>N>P

(D) N>O>F>P

A baseball is moving at 25 m/s.

When it is struck by a bat moves off
in the opposite direction at 35 m/s.
If the impact lasted 0.010 s, find the
baseball’s acceleration during the
impact.

(A) 2500 m/s?
(B) —6000 m/s?
(C) —3500 m/s?
(D) 5000 m/s?

Nitration of benzoic acid gives following
major product

(A) o-nitro benzoic acid
(B) m-nitro benzoic acid
(C) p-nitro benzoic acid

(D)

of the above
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60. IR T T =l 4 m/s & am
WW%,@WW‘?I?!?W;: ol we. throw a body upwards with
et SR T & TR ook 3 gy 2 velocity of 4 m/s, at what height its

g=10m /62 Fﬁ'ﬁm : kinetic energy reduces to half of the
o initial value ? Take g =10 m/s?
((2; :: \{By"2m (A) 4m (B) 2m
(D) 0.4m (C) 1m (D) 0.4m
61. T% THIHU ¥ g4I favg |
3 Hrafeg 61. Nernst equation relates electrode
A) 3 potential with
@) e (A) Temperature
T ) (B) Concentration
C) aTIH 3R wiga
(©) & (C) Temperature and concentration
(DY T 3R TEE |

(D) Temperature and pressure

62. m FHHM F Tk TUg & vt HEd iy

. . 62. A body of mass m that is undergoing
TR, 319 gge et & ToRar ® | 3|

EWEY simple harmonic motion passes through
its equilibrium position, its velocity is
(A) T (A) zero
(B) 3tferhem (B) maximum
W yferhad WiF & AT (C) half of its maximum value
(D) ITFaF J | IS ol (D) none of the above
63. S TESISH TATY] I fwram srEe d 63. When hydrogen atom is raised from
Fafa STaEen de SE Sl €, a6 the ground state to an excited state
\(A)/P./E. Fgal @ AR K.E. ¥l 2 (A) P.E.increases and K.E. decreases
(B) P.E.®&dl 2 3R K.E. sigdl 2 (B) P.E. decreases and K.E. increases
(C) P.E. 3 KE. 21 sgd & (C) Both P.E. and K E. increases
(D) P.E. 3 KE. 3 92 B (D) Both P.E. and K.E. decreases
64. HFHHY €T o HR Sifed A 64. Transition metals form complexes due
% | to
(A) BT FTHN (A) Small size

(B) I9cisy d F& (B) Available d orbital
(C) = FAF & \Chl (C) Large ionic charge
. (

\w o D) All the above

TG-05/C
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65. 1:2: 3 o1y & wfdy g At A
e o s 3 2 | 39 gy
ﬁﬁa@ﬂmwmﬁ%
(A)1:2:3
(B) 2:3:1
\/(E)/3:2:1
(D) 6:3:2

66. FHEIcHSH & 3239 O U o} T e
wd i F o g uig i e H
ST ST # | 3 e S e
el 4H | U TS qF 928 Sl 8, dl
Icafoia FrRIsaaeH 1 Aafteray fast
Fetl Brft
NG

. (BY TR T F 1/16
(C) H& 7H % g
(D) 7 wH & =

67. Trafafiga 4 € fas smafs dso
gaifuF 2, 98 2

m NaCl (B) KCI
(C) LiCl (D) CsCl

68. & amad mia F forg =1 & | =0
ATTIF e B ¢
(A) STgcd
(B) TIEA 9
~(C) itfer wream
(D) TR
TG-05/C
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65. Three resistors having resistances in
the ratio 1 : 2 : 3 are in parallel. The

current through the resistors are in the
ratio

A 1328
B) 2:3:1
(C)3:2:1
(D)6:3:2

66. A metal surface is illuminated by a
light of given intensity and frequency
to cause photoemission. If the intensity
of illumination is reduced to one
fourth of its original value, then the
maximum kinetic energy of the emitted
photoelectrons would becomes
(A) unchanged
(B) 1/16'™ of original value
(C) twice the original value
(D) four times the original value

67. Among the following, the one which
has maximum ionic character is

(A) NaCl (B) KCI
(C) LiCl (D) CsCl

68. Which of the following is not essential
for the simple harmonic motion ?

(A) Inertia
(B) Restoring force
(C) Material medium
(D) Gravity

—————d
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69. T SIAZI 1 T @
(A) 1.6 x10°24C
(B) 1.8 x 10719 C

Sy T6x10-1°C

(D) 1.6x 10717 C
70. AR Sl eehi &E ER TR B ¥
By e
(B) SFTTE
(C) ehegehra
(D) g
Hca 8 STet T goTl U il gHs] A
¥ R 3 arfers Se1 BT R

\ (AV RS & €T ST ST HET &
(B) U] & TSI el FoHT WA ©

71

(C) =T & THE! SR ST 35oH Felle
FA B

(D) TR ST 1T AR e ST Tl ¢

72, FAAAFT-WFATA TR ?

(A) ST A o a1 el Het <hl g:

srrafia foman s w2 |
(B T drefirm drr st v

JTE ¢ |

(€) = % fore feraear= 9a 3ugw @ |

(D) e =1 =TS A Fad TR ZFH p.d.
a4t emf. 8 ARFHEA R |
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The charge of an electron is
(A) 1.6x10-24C
(B) 1.8x10°19C
(C) 1.6x1071°C
(D) 1.6x10°"7C

The substances which are attracted by
the magnetic field are

(A) Diamagnetic

(B) Paramagnetic

(C) Ferromagnetic

(D) Ferrimagnetic

Outdoors on the winter, why does a
piece of metal feel colder than a piece
of wood ?

(A) Metal is a good conductor of heat
than wood

(B) Wood is a good conductor of heat
than metal

(C) Wood conducts heat faster than
metal

(D) Both the metal and wood are bad
conductors of heat

Which of the following statements is

not correct ?

(A) Asecondary cellmay be recharged
after use.

(B) A nickel-cadmium cell is an
example of a primary cell.

(C) AlLeclanche cellis suitable for use
in torches.

(D) When a cell is being charged its
terminal p.d. exceeds the cell
e.m.f.

TG-05/C
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73. @it fFegd games geieH @
(A F (8) ClI

(C) Br (D) |

o Hiex Tt & e A 4 for wfria®
SITEY it A @aTE 0.25 m TR 8 7
(A) 10,30

(B) 7/39,7Q

(C) 250,750

(D) 20,30

ThAYT UTqY 3794 Afiehi § qwiid 8
(A) I sy

\ (B) HEGISTF 99

(C) wnfere g

(D) I F ITTEEASTH 54

U FEIq YeH o fore 3T iferehl s yuH
frm 2

(A) du =W

(B) du=0

\(Cydu=—38W

(D) du =—8H +2 W
77.  317ad Gref 7 || T I I Fad &
(A) STeel! aTgd
(B) 3Teeheligd Y U1g
(C)
(D) HsFHOT TGY
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The most electropositive halogen is

(A) F (B) ClI

(C) Br (D) |

For which of the following pair of
resistors, the balancing length is not
0.25 m in a meter bridge ?

(A) 10,30
(B) 7/3Q,7 O
(C) 250,750
(D) 2Q,30Q

Transition metals in their compounds
show

(A) lonic bonds

(B) Covalent bonds

(C) Metallic bonds

(D) lonic and coordinate bonds

The first law of thermodynamic for an
adiabatic process is

(A) du =W

(B) du=0

(C) du=-38W

(D) du=—5H+ 2 8W

The |l group elements in the periodic
table is known as

(A) Alkali metals

(B) Alkaline earth metals

(C) Lanthanides

(D) Transition metals


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

AddaZd7 I A i ris

i R
_ qcd % THFSH {1 Iegely Wy
\is 78. @ Qe 3| 78 The wavelength in the bright-line
e emission spectrum of an element are
(A) o st i forgams (A) characteristic of the particular
- element
® mﬁm%m@ (B) the same for all the element
_— _ me for a ements
s not W % 3 g mﬂﬁﬁﬁa (C) evenly distributed throughout the
D) a6 A Ty g % % visible spectrum
- (D) different from the wavelengths in
quTeed ¥ e g
its dark-line absorption spectrum
Pl § & F-T1 Hegaey
79. i 3m 7 A 79.  Which of the following will not give a
carbocation as an intermediate ?
inds ﬁq;mgm m
(A e (A) Ethyl magnesium halide
By Preréer sise (B) Methyl bromide
(C) fore weitrss (C) Vinyl chioride
(D) T (D) Ethanol
ran 80. paﬁ'{ f et 3 %‘1 Sl LSt s 80. The Azimuthal quantum number for
A FA: 7 p and f orbitals are respectively
(A) 031 2 (A) 0and 2
(B) 137 3 (B) 1and 3
(C) 132 (C) 1and2
Prasms (D) 2and 3
dic 81. U facfiash o) <l &t safufowarn 2 81.  The cellreaction of a secondary battery
(AY Sermvf =
(A) Reversible
(B) HgcsHHv _
' . (B) Irreversible
(C) wge (C) Equilibrium
(D) FeHTEH (D) Endothermic
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st ot fom, sref MOWW

Ko €

¥R & o SR forgeefieran qfan @

(A) LT
\By T2 T-2

(C) L2712

(D) LT-1

U ek At Argge a1 AT e
e g

(A) Li NBVK

(C) Na (D) Cs

afg m, 3R m,, 7Mo% & IWE r, 37N
r, P o e et o gedi o W wd

%,aﬁmﬁ:mﬁa%ﬁmm;’_‘%
2

fraferfaa o 2 fra s, Svoedse
3T gegarst S Ed & 7

(A) NaCN

(B) NaCl

(C) NaNC

MaOH
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1
The dimension of ———, where ji;
oS
represents vacuum permeability and
€, represents vacuum permittivity

(A) LT
(B) L2T-2
(€) L2 T2
(D) LT

The metal used to detect nitrogen in
an organic compound is

(A) Li (B) K

(C) Na (D) Cs

If two satellites of masses m; and m,
are revolving around a earth in a
circular orbits of radius ryand r,, then

the ratio of their orbital velocities 4,

is V2
/) h
® |2 ® |
GL 0 2
2 I

Which of the following contain ionic,

co-ordinate and covalent bonds ?
(A) NaCN
(B) NaCl
(C) NaNC

(D) NaOH

Il

8¢



https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

247

where }g
ability and
nittivity

trogen in

ionic,

L
g6. 100 QTR & Nearifia 3 wrer wfiyy

87.

88.

89.

R@WWﬁmﬁﬁagm
1 o fvdl R | Seeriter # gp
A1 FA % TR F W19 1000
wferre 40ft 569 5 S 1R | Ry g
(Q#) gm
(A) 1000
(C) 800

\(BY1100

(D) 900

afa gedl 1 5 Wl 08 & At 7 3
3 e g R, @ e % Tty gy
3 A F F 70 Tk &1 stfrman
T YA I | Geef) < e T e
J ! 11.2 km/s TS |
(A) 5.279 km/s

3.75 km/s
(C) 9144 km/s

(D) 3.865 km/s

d 1 dcd &

(A) st Emgd

(B) &ft serqd

(C) a1gd 3R HFuTqd

\Dy eI

IS ¥ ggerd d9RH & U -
omTHteT T8 foma e & 7

(A) FTE T 59

(B) T i

\(Cy e epefien

(D) ar9-farea (geisciadisn) omiie
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86. When a resistance R connected in

87.

88.

89.

series with a galvanometer of resistance
100 Q, it acts as a voltmeter. To double
the range of the voltmeter, a resistance
of 1000 Q is to be connected in series
with R. Then the value of R is (in Q)
(A) 1000 (B) 1100

(C) 800 (D) 900

If earth has a mass nine times
and radius twice that of the planet
mars, calculate the maximum velocity
required by a rocket to escape from
the gravitational field of mars. Take

escape velocity on the earth’s surface
to be 11.2 km/s.

(A) 5.279 km/s
(B) 23.75 km/s
(C) 9144 km/s
(D) 3.865 km/s

The d block elements are
(A) All metals

(B) All non-metals

(C) Metals and non-metals
(D) Metalloids

Which thermometer is preferred for

rapidly changing temperature ?

(A) Liquid in glass

(B) Gas thermometer

(C) Resistance thermometer

(D) Thermoelectric thermometer
TG-05/C
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90. el N srcafers sty s & @Y
«»W
- e
(B) 3- smHref

(C) 2, 4-TEEmTAeta
(D) 2, 4-6-TrgsmTH YA

0. weaTarelt e = S g fore e R

mm%m

(B) W & farg
(C) == =1 a1 w3 & Rw
(D) TERI=IfT & fog
92. HleTEd U H YA W EaTe i
?
(A) IT=TH
(B) 319="A

(D) &M

93. U foT9e a wwwr & @y = < A s @
2 | U areH e § v i firgn &
e =1 o foree | fedm amreddt &) ot
s W R e et =1, .
fe@m

(A) 8.9

(Byg-ag-a

(C) g oo a! g
(D) ag
TG-05/C
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90.

g1.

92.

93.

o “"4-‘

Reaction of aniline with excess of

bromine water gives

(A) 2-Bromoaniline

(B) 3-Bromoaniline

(C) 2, 4-Dibromoaniline
(D) 2, 4-6-Tribromoaniline

The alternating current cannot be used
for

(A) heating
(B) lighting
(C) generate mechanical energy

(D) electroplating

In the voltaic cell, the reaction occur at
anode is

(A) Oxidation

(B) Reduction

(C) Elimination

(D) Addition

The lift is moving down with an
acceleration a. A man in the lift drops
a ball inside the lift. The acceleration
of the ball as observed by the man in

the lift and a man standing stationary
on the ground are, respectively

(A) g. g

(B) g—a,g-a
(€ g-ag
(D) a, g
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| L
;f 94. @W%Wﬁ?ﬁﬁ S R 94. The difference in isotopes of an
(A) ?\'E/ZFTF{ g element is
\(BY ST HET (A) Mass number
(Vé) i 6 e (B) Atomic number
. (C) Number of electrons
(D) ST 61 Fe (D) Number of protons
95. i H IR 1 Hee w7 95. Among the following, the conducting
(A) form of carbon is
id (B) IR (A) Diamond
© e v i
\(W widt (D) All the above
96. T H A FH-THSIH IFHAR? | 95 Which of the following is most acidic ?
\ (W) T (A) Phenol
(B) TS HAehIeet (B) Benzy! alcohol
it (C) FrgFARFIATA (C) Cyclohexanol
(D) m-IFARITHAT (D) m-chlorophenol
97. p -type HefETer Bl & 97. A p-type of semiconductor is
(A) Frafia (A) uncharged
\W AT (B) +vely charged
(C) ZRuITcHe HTEfTd (C) — vely charged
1 (D) aret 0°C W fHraifire (D) uncharged only at 0°C
; 98, fmiferfiga # & -7 SY THIBTH | 98, Which one of the following molecule
3 TR g it 37 s TR is less reactive towards electrophilic
/ 27 aromatic substitution ?
(A) ufefa (A) Aniline
(B) 2 (B) Toluene
\Jg)/g;‘ﬁ (C) Nitrobenzene
(D) fTa (D) Phenol

® 25 TG-05/C
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99. R o™ i wa ws eyt g 1 fon

(V,) B (V,) T e B, d@ foF0 T

(C) P(V,-Vy)
(D) (V;+V,) P

99.

AR R T

Work done by an ideal gas when it
expands from volume (Vy) to (Vo)

A BT R under constant pressure is
(A) V), /P (A) V,V, /P
"(B) PV,V, (B) PV,V,

(C) P (Va—Vy)
(D) (V4 +V,) P

100. 375Td Sfdya a1 Yehes ga F % T | 100, In Wheatstone bridge method of finding
e fort vl ® v Feare % &9 1 unknown resistance or inductance, the
3@ SUHT HI ITGVT Bl 2 instrument used as null detector is
(A) THIR (A) Ammeter
(B) AeeHi (B) Voltmeter
C (C) Galvanometer
(D) A |fi (D) All of these
101. 399 % Frafoiad =g # & fF®F1 | 101. Among the following derivatives of
FIYATH TaTeh & ? ethane, the one having the highest
boiling point is
(A) C,HsF
(A) CoHgF
B) C,H:CI
(B) Callg (B) C,HCI
(C) CoHsBr (C) C,HgBr
(D) C,Hs| (D) CoHsl
102. TR FroasA A A FEFE S | 102, The combination of atoms take place

Brare ?

(A) T o g ar e o e |
(B) T A St g TR e 4 &
& Foi feufa o A &
(D) HATEHRAT ST F &

TG-05/C

due to
(A) Acquire stability by increase in
energy

(B) Acquire stability by decrease in
energy

(C) Acquire high energy state
(D) Acquire instability
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IO 0 O A {
103. <% 4ig & 8 F 3 A 1 100°C 39N

110°C 9190 W 91T W1 7™ ® | 3
B H T FAR F1 R 4.0 /s YR 7y
& 1913 38 B % 2 Rl = 2000C 3y

210°C T9H T ST W@ ST, & Ty
YaITR 1 & By
\(BY 0 Jis (B) 4.0 Jis

(C) 44.0 J/s (D) 16.0 J/s

104, SEBTRI-TTTIfes fRrft 3 st S oy

FWE g |
W{%ﬁﬁ%ﬁﬁm
(B) SoITohfereh whesom
(C) T ket woreft

(D) FHTaTheraT qeaadt

. TAfoera e <) vt o 3w R
T A et g9 H U Yoo gAY 6 for
foran e ® | 3@ ot F 3em B A
T g

(A) 71 T T St
(B) 1 o yitd # aAfersrem

(C) Tt < 3fid & =rm
F T (Tfen) § feran

106. 3= QMUY W FH(FEfes 0T & 1Y

sTrefid qiefirem wime i stfifwa §

1 AR 8
(A) MnSO, \(By Min0,
(D) Mn,O,

(C) MnSO;
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The two ends of a metal rod are
maintained at temperature 100°C and
110°C. The rate of heat flow in the
rod is found to be 4.0 J/s. If the two
ends of a metal rod are maintained at
temperature 200°C and 210°C, the
rate of heat flow will be

(A) 8.0 J/s (B) 4.0 J/s

(C) 44.0J/s (D) 16.0 J/s

Chlorination of benzene under
photochemical condition takes place

by

(A) Nucleophilic substitution

(B) Electrophilic substitution

(C) Free radical mechanism

(D) Carbocation intermediate

A string of certain length used to whirl

a stone in a vertical circle with certain

velocity. The tension developed in the

string will be

(A) same along the circle

(B) highest at the top of the circle

(C) least at the top of the circle

(D) highest at the bottom of the
circle

The autocatalyst formed in the reaction

of acidified potassium permanganate

with oxalic acid at high temperature is

(A) MnSO, () MnO,
(C) MnSO, (D) Mn,0,
TG-05/C
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107. & @I 98 &
(A) S Seien o 1 1T e R
(B) axfifspan 3 3eardi & & v I hl
wiitd e e 2
(C) =i # § s 33 i ifd
ETGIES

. (D) &1 sifymier 3 1 uifa wr
A

108. 313 # AR T@4 W e s §
ftafiia & s
(A) NaCl# (B) Na,CO,
\(cyﬁazoﬁ (D) Na,O,

109. =R e Tiafsrmnst & ged e &

e -efim
(C) T
(D) =TSR
110. Frafafead g ST Fa 3

(A) 2s (B) 2
v@ﬁ;y

(C) 3f

111. 3R P,Q,R ik S #eeh B ¥ an
T S WA 2 E, A e
ﬁﬁ'a'mﬁam:ﬂﬁmﬁqmm
(A) P=Q=R>8
\BrP=Q=R=5
(C)P>Q>R>8

(D) P<Q<R<S
TG-05/C
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107. An autocatalyst is

108.

109.

110.

111,
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(A) One which speeds up the catalyst
action

(B) One of the products of a reaction
acts as a catalyst

(C) One of the reactants act as
catalyst

(D) Both the reactants act as a
catalyst

On continuous exposure to air, sodium
finally changes to

(A) NaCl
(C) Na,©

(B) Na,CO,
(D) Na,O,

The weakest of the four fundamental
interactions is the

(A) gravitational
(B) electro-magnetic

(C) strong

(D) weak

!mpossible orbitals among the following
is

(A) 2s (B) 2p

(C) 3f (D) 4d

IfP,Q,Rands represents resistances

of 4 arms of the Wheatstone’s bridge,

then the sensitivity of Wheatstone's
bridge will pe maximum when

(A) P=Q=R>s
B)P=Q=R=g
(©) P>QsRsg
(D) P<Q<F§<S

[V

112, @

«

113.

114,

18,

116.
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(AR

112, RIS iR e Afirel
& fore uss gfeesrrt whaor 2 |
(A) —COHS "(B) —
(C) —CONH, (Dy<"COOH

113, T 1 Wi & S i ufdg

et B
By e i &
(B) Faet 3G} A
C) *ad Zal oiR i 3
(D) 3, Zal afR A 3
114, e gecht it g & ot o1 oo gt 3
Ya &, @ s ad B srafy dht

(A) Vood \(Ba/%/a'é

(C) 1/8=d (D) 116§
115, T gl ward <t ofrga amg 2
(A) forere Fardies & saer
B) forre foraretien =1 =gt
(C) fomres Faraie & yeer Tt
\(D)-Free faiss %1 st

116, feifrm wogHifrm sEgEe & Afifwn
w&sﬁmm%m% AUy

(A) 3
(B) SSIEA AcHIBIA
(

C)
\(0)2?1}@?%'?

0]
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lodoform reaction is a confirmatory test
for compounds having

(A) = COH, (B)
(C) ~ CONH, (D)

- COOH

Heat transfers by the process of
convection occurs

(A) only in liquids
(B) only in solids
(C) only in liquids and gases

(D) in solids, liquids and gases

If the earth is ¥4 of its present distance
from the sun, then the duration of the
year would be
(A) Y2 year
(C) 1/8 year

(B) V4 year
(D) 1/16 year

The mean life of a radioactive substance
is
(A) Equal to disintegration constant

(B) Reciprocal of disintegration
constant

(C) Directly proportional to
disintegration constant

(D) Multiples of disintegration
constant

Benzoic acid on reacting with lithium
aluminium hydride gives

(A) Benzene

(B) Benzyl alcohol
(C) Toluene

(D) None of the above

TG-05/C
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117.

118.

119.

120.

% A § 3ferd smomy verd @
(A) MgO,

Mo
(C) MnO, (D) Zn

Frafafaa # ¥ FF-u siei faged T
am‘rﬁmﬁgaam?

(B) wHfese

(C) sSmTES

DREZIERECEI

P TS % U v o, 3f i
TS % T SuEr) ST o T @l
TR | SIS ©

(A) 30/2 I WS T ST o
\(B) 2 P e 1 vl
(C) 3f Wwiehel wialTs ohT STTEH il

(D) 3t/2 el TS 1 SR i

e atfifwan & forn Frefafea # |
FH-H1 Tk TSR & 7

\_(Ay rew e s

(B) TceTa HAfufshaT
(C) Tt il ST
(D) SIS 31 A

o1, GE I T &ATC Sisfl 1 He @

(A) Taferorefrerar

(B) ey Frasd

(©) 4 fEferam =1 3
Y EIFEISH I I
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The cathodic material present in dry
cell is

(A) MgO,
(C) MnO,

(8) MgO
(D) Zn

Which one of the following will release
ammonia on hydrolysis ?

(A) Nitrobenzene

(B) Acetanilide

(C) Benzamide

(D) Phenyl benzoate

A converging lens of focal length f is
placed in contact with a diverging lens
of focal length 3f. The combination is

(A) A diverging lens of focal length
3f/2

(B) A converging lens of focal length
2f

(C) A diverging lens of focal length 3f

(D) A converging lens of focal length
3f/2

Which of the following is an example
for addition reaction ?

(A) Friedel Crafts reaction

(B) Aldol reaction

(C) Bromination of phenol

(D) Nitration of benzene

The energy that heats the sun has its
origin in

(A) radioactivity

(B) nuclear fission

(C) the production of helium from
hydrogen

(D) the production of hydrogen fro™
helium

0

(g

122

12

12

12
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(VTR AT
122, F=fcfaa # & a8 Rrm ofe T&R | | 122. Among the following one which does
(A) NFg \ not exist is
(A) NF
i (B) SbF,
(C) PFs (C) PF,
(D) AsFg (D) AsF,
123. Aeefia % smad fram % SR @l | 123, According to Mendeleev's periodic law,
% Wifas 3 a3y the physical and chemical properties
F1 WW% | of elements are periodic functions of
: their
MT‘Q e (A) Atomic numbers
(B) T YR (B) Atomic weights
(C) soiwgiA i " (C) Number of electrons
(D) W &6 gE (D) Number of protons
4
124. U= Higen g 9ot il Gdg W ZqH 124. A women whose mass is 60 kg on the
60 kg 2, I8 gedt i s aﬂ:nﬁ—\;m earth surface is in an spacecraft at an
F F97¢ W a7afemE A g R 2 | 3T altitude of two times the earth radius.
T 98 & Her mass there is
\B)}67 kg (B) 15kg (A) 6.7 kg (B) 15kg
(C) 20 kg (D) 60 kg (C) 20 kg (D) 60kg
125. 90° % fER o & A Al Aled #=d | 125. Two pendulums oscillate with a
£ | afy 398 A ©F F A T 2 e constant phase difference of 90°. |f
time period of one of them is 2 sec.,
g aﬁ P 1t ¢ then period of the other is
(A) 2 8%S By 4 dse (A) 2 sec. (B) 4 sec.
(C) 18%Fs (D) 6 ¥ehe (C) 1 sec. (D) 6 sec.
O 31 TG-05/C
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3. w-gfe # e Rrinfy & siffes, foret off
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oo =1 =59 # OMR iz § s-vae 1 fJu 1y
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7. fordlt oft affeyfa § we-gfcas &1 615 ot w e
A A FEATR |

8. aysyeff ufien wa o wawr ux & afafes e ar
o #1837 FT e A | afg Fd el

F13 aififes w1, e, &S, Hegod, TES
=, HiaEE S Afe 3193 WY Fhan vaq § @

ST 8, a1 38 S @A Wb % seatd
=foea o s aha @ |

9. @t 7% &1 FI Fae T -JRETH & =T HH
21
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negative marking for wrong answer.
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alternative out of the four alternatives given and
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